Answer the name of the following station if your answer from the previous station was Double Replacement.
[bookmark: _ntidb8d8dw2p]
[bookmark: _ug2meh362run]Station 1

Fe + Cu(NO3)2 ---> Fe(NO3)2 + Cu

[bookmark: _5x5l5e54904b]Answer the name of the following station if your answer from the previous station was Combustion.
[bookmark: _3izcpiixzlll]
[bookmark: _g0hmabrm52nk]Station 2
[bookmark: _ahdvg9obedlg]
[bookmark: _hjtg13xvbuld]2KCIO3 ---> 2KCI + 3O2

[bookmark: _qxzt0e90ydku]
[bookmark: _ogd2ip9mna2p]

Answer the name of the following station if your answer from the previous station was Synthesis.

[bookmark: _eoehicjqh5m0]Station 3

2C2H6 + 7O2 → 4CO2 + 6H2O

[bookmark: _u60co8xxq4gf]


Answer the name of the following station if your answer from the previous station was Decomposition.
[bookmark: _r5qcvwk8n2lo]
[bookmark: _7gyf7eh1nesk]Station 4

2NaCl + H2SO4 → Na2SO4 + 2HCl




Answer the name of the following station if your answer from the previous station was Single Replacement.

Station 5

2H2 + O2 ---> 2H2O

[image: ]	GOODNESS GRACIOUS, GREAT BALLS OF FIRE!
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